Bid Comparison

Contract ID: 459.2116

Description: Tree Removals. Approx. 7,900' long.

Location:

CR 388 From 29th St. to CR 653 South - Pine Grove Twp

Projects(s):

459.2116

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$107,730.00	71.26%	0.00%
1	(_000035421) J & S Tree Removal, Inc.	\$62,904.00	0.00%	*** Incomplete ***
2	(_369852) Tree Tech LLC	\$82,029.00	30.40%	-23.85%
3	(_222223) Brad Thomas Excavating	\$105,805.00	68.20%	-1.78%
4	(_00002354) American Arbor, LLC	\$108,925.00	73.16%	1.10%
5	(_00001425) Great lakes Tree service, Llc	\$160,438.00	155.05%	48.92%
6	(_000054213) C&R's Out on a Limb Tree Care, LLC	\$170,105.00	0.00%	*** Incomplete ***
7	(_258741) Tree Works Inc.	\$174,925.00	178.08%	62.37%

Line Pay Item Code Quantity		Units	(0) ENGINEER'S ESTIMATE		(1) J & S Tree Removal, Inc.		(2) Tree Tech LLC	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 1500001	1	LSUM	\$7,500.00	\$7,500.00	\$0.00	\$0.00	\$10,000.00	\$10,000.00
Mobilization, Max								
0002 2020002	16	Ea	\$1,000.00	\$16,000.00	\$780.00	\$12,480.00	\$790.00	\$12,640.00
Tree, Rem, 19 inch to 36 inch								
0003 2020003	32	Ea	\$1,600.00	\$51,200.00	\$1,500.00	\$48,000.00	\$1,386.00	\$44,352.00
Tree, Rem, 37 inch or Larger								
0004 2020004	25	Ea	\$750.00	\$18,750.00	\$50.00	\$1,250.00	\$323.00	\$8,075.00
Tree, Rem, 6 inch to 18 inch								
0005 2047051	1	LSUM	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00
_ Selective Tree Trimming								
0006 8120012	8	Ea	\$150.00	\$1,200.00	\$3.00	\$24.00	\$96.00	\$768.00
Barricade, Type III, High Intensity, Dou	ıble Sided,	Lighted,						
Furn 0007 8120013	8	Ea	\$10.00	\$80.00	\$0.00	\$0.00	\$3.00	\$24.00
Barricade, Type III, High Intensity, Dou	•		Ψ10.00	Ψ00.00	ψ0.00	ψ0.00	ψ0.00	Ψ24.00
Oper			L	L-		L_		
0008 8120035	50	Ea	\$20.00	\$1,000.00	\$1.00	\$50.00	\$10.00	\$500.00
Channelizing Device, 42 inch, Fluoresc	cent, Furn							
0009 8120036	50	Ea	\$40.00	\$2,000.00	\$0.00	\$0.00	\$1.00	\$50.00
Channelizing Device, 42 inch, Fluoreso	cent, Oper							
0010 8120170	1	LSUM	\$3,000.00	\$3,000.00	\$0.00	\$0.00	\$500.00	\$500.00
Minor Traf Devices								
0011 8120350	200	Sft	\$4.00	\$800.00	\$0.50	\$100.00	\$3.00	\$600.00
Sign, Type B, Temp, Prismatic, Furn								
0012 8120351	200	Sft	\$1.00	\$200.00	\$0.00	\$0.00	\$0.10	\$20.00
Sign, Type B, Temp, Prismatic, Oper								
Bid Totals:				\$107,730.00		\$62,904.00		\$82,029.00
				, l		·		ŕ

Line Pay Item Code Q	uantity	Units	(3) Brad Thomas Ex	xcavating	(4) American Arbor,	LLC	(5) Great lakes Tree	e service, Llc
escription		Bid Price	Total	Bid Price	Total	Bid Price	Total	
0001 1500001	1	LSUM	\$9,000.00	\$9,000.00	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00
Mobilization, Max								
0002 2020002	16	Ea	\$1,200.00	\$19,200.00	\$1,350.00	\$21,600.00	\$2,500.00	\$40,000.00
Tree, Rem, 19 inch to 36 inch								
0003 2020003	32	Ea	\$1,850.00	\$59,200.00	\$2,250.00	\$72,000.00	\$3,000.00	\$96,000.00
Tree, Rem, 37 inch or Larger								
0004 2020004	25	Ea	\$300.00	\$7,500.00	\$225.00	\$5,625.00	\$500.00	\$12,500.00
Tree, Rem, 6 inch to 18 inch								
0005 2047051	1	LSUM	\$7,000.00	\$7,000.00	\$4,562.00	\$4,562.00	\$5,000.00	\$5,000.00
_ Selective Tree Trimming								
0006 8120012	8	Ea	\$34.00	\$272.00	\$60.00	\$480.00	\$60.00	\$480.00
Barricade, Type III, High Intensity, Doub	le Sided,	Lighted,						
Furn	8	Ea	\$1.00	\$8.00	\$1.00	\$8.00	\$1.00	\$8.00
Barricade, Type III, High Intensity, Doub	•		φ1.00	ΨΟ.ΟΟ	ψ1.00	Ψ0.00	ψ1.00	φ0.00
Oper			L	L		L		
0008 8120035	50	Ea	\$9.00	\$450.00	\$13.00	\$650.00	\$13.00	\$650.00
Channelizing Device, 42 inch, Fluoresce	ent, Furn							
0009 8120036	50	Ea	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00
Channelizing Device, 42 inch, Fluoresce	ent, Oper							
0010 8120170	1	LSUM	\$2,075.00	\$2,075.00	\$1,950.00	\$1,950.00	\$1,950.00	\$1,950.00
Minor Traf Devices								
0011 8120350	200	Sft	\$5.00	\$1,000.00	\$3.00	\$600.00	\$3.00	\$600.00
Sign, Type B, Temp, Prismatic, Furn								
0012 8120351	200	Sft	\$0.25	\$50.00	\$1.00	\$200.00	\$1.00	\$200.00
Sign, Type B, Temp, Prismatic, Oper								
Bid Totals:				\$105.805.00		\$108,925.00		\$160,438,00

	Davidson Oada	0	11!4	(6) C&R's Out on a	Limb Tree	<u></u>			
Line	Pay Item Code	Quantity	Units	Care, LLC		(7) Tree Works Inc.			
Desc	ription			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001	1500001	1	LSUM	\$0.00	\$0.00	\$10,000.00	\$10,000.00		\$0.00
Mob	ilization, Max								
0002	2020002	16	Ea	\$2,200.00	\$35,200.00	\$1,500.00	\$24,000.00		\$0.00
Tree	, Rem, 19 inch to 36 inch								
0003	2020003	32	Ea	\$3,500.00	\$112,000.00	\$3,000.00	\$96,000.00		\$0.00
Tree	, Rem, 37 inch or Larger								
0004	2020004	25	Ea	\$750.00	\$18,750.00	\$500.00	\$12,500.00		\$0.00
Tree	, Rem, 6 inch to 18 inch								
0005	2047051	1	LSUM	\$500.00	\$500.00	\$20,000.00	\$20,000.00		\$0.00
_ Se	lective Tree Trimming								
0006	8120012	8	Ea	\$34.00	\$272.00	\$300.00	\$2,400.00		\$0.00
	icade, Type III, High Intensity, Do	ouble Sided,	Lighted,						
Furr		0	- -	L #4.00	#0.00l	Ф.Г.О.О.О.	#400 00l		ام مما
	8120013	8 bobi2 oldud	Ea	\$1.00	\$8.00	\$50.00	\$400.00		\$0.00
Оре	icade, Type III, High Intensity, Dorr	ouble Sided,	Ligniea,	L	L		L		
-	8120035	50	Ea	\$9.00	\$450.00	\$10.00	\$500.00		\$0.00
Cha	nnelizing Device, 42 inch, Fluore	scent, Furn							
0009	8120036	50	Ea	\$1.00	\$50.00	\$2.50	\$125.00		\$0.00
Cha	nnelizing Device, 42 inch, Fluore	scent, Oper							
0010	8120170	1	LSUM	\$1,825.00	\$1,825.00	\$7,500.00	\$7,500.00		\$0.00
Mino	or Traf Devices								
0011	8120350	200	Sft	\$5.00	\$1,000.00	\$5.00	\$1,000.00		\$0.00
Sign	, Type B, Temp, Prismatic, Furn								
0012	8120351	200	Sft	\$0.25	\$50.00	\$2.50	\$500.00		\$0.00
Sign	, Type B, Temp, Prismatic, Oper								
Rid 1	otals:			<u></u>	\$170,105.00		\$174,925.00		
biu i	Olais.				Ψ170,100.00		Ψ17-7,323.00		